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QUESTION 1

Identify two restructure stages that allow you to create or organize vectors in the output link results? (Choose two.)
A. Split Vector

B. Column Import

C. Merge records

D. Split Subrecord

E. Make Subrecord

Correct Answer: DE

QUESTION 2

Which step is required to change from a normal lookup to a sparse lookup in an ODBC Connector stage?
A. Change the partitioning to hash.

B. Sort the data on the reference link.

C. Change the lookup option in the stage properties to "Sparse".

D. Replace columns at the beginning of a SELECT statement with a wildcard asterisk (*).

Correct Answer: C

QUESTION 3

Identify two different types of custom stages you can create to extend the Parallel job syntax? (Choose two.)
A. Input stage

B. Basic stage

C. Group stage

D. Custom stage

E. Wrapped stage

Correct Answer: DE

QUESTION 4
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A job using a three-node configuration file writes to a target Sequential File stage. The target Sequential File stage has
been set to write to two different sequential files. How many instances of the Sequential File stage will run?

A. One instance.

B. Two instances.
C. Three instances.
D. Four instances.

Correct Answer: B

QUESTION 5

Which Oracle Connector stage property can be set to tune job performance?
A. Array size

B. Memory size

C. Partition size

D. Transaction size

Correct Answer: A

A2090-303 PDF Dumps A2090-303 Practice Test A2090-303 Braindumps

A2090-303 PDF Dumps | A2090-303 Practice Test | A2090-303 Braindumps 3/3


https://www.pass4itsure.com/a2090-303.html
https://www.pass4itsure.com/a2090-303.html
https://www.pass4itsure.com/a2090-303.html
http://www.tcpdf.org
https://www.pass4itsure.com/a2090-303.html
https://www.pass4itsure.com/a2090-303.html
https://www.pass4itsure.com/a2090-303.html

